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Winter 2006
(1)  Which of the following are acceptable units for angular acceleration?   

(a)  m/sec2   (b) sec-2     (c) sec -1     (d) none of the above

(2)  A wheel has an initial angular speed of zero and a constant angular acceleration of

4 rad /sec2.   Through what angle does the wheel rotate in 3 seconds?    

(a) 12 rad     (b) 36 rad      (c) 18 rad      (d) none of the above

(3)  What are proper units for moment of inertia?    

(a)  kg     (b) kg  m2      (c)  kg /m2     (d)  none of the above

(4)  A disk with a diameter of 10 cm is spinning with a constant angular speed of 

4 rad /sec.  What is the linear speed of a point on the rim of the disk?  

(a)  20 cm /sec    (b) 40 cm /sec   (c) 40 (sec)-1     (d) none of the above

(5)  What is the tangential acceleration of the point referred to in the previous problem? 

(a) 9.8  m /sec2     (b) 160 cm/sec2      (c) 0 m /sec2      (d) none of the above
TRUE or FALSE?

(6)  For a given object, its smallest moment of inertia will always be about an axis passing through the center of mass of that object.

(7)  For a rigid body in rotation, the angular velocity is the same for every point on the object.

(8) The acceleration of any object moving in a circular path must point toward the center of the circular path

Major Topics For Next Week: 
Finish up Moments Of Inertia (Integrations)
Torque and Newton’s Second Law for Rotation  

Rolling without Slipping, Rolling Objects on Planes
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